H & 0l & AHS B Ml A

S RPN =
M FJHATAZE

Rl B2 Al EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
D=} 26,266,665 24,468,770 1,797,8%
= 570,600 9,800 560,800
z 7,026,540 7,026,540 0
< 571,574 90,940 480,634
= 6,897,951 17,341,490 10,443,539
H 11,200,000 0 11,200,000
AT AIZS 16,354,995 15,465,241 889,754
= 450,000 0 450,000
= 3,014,540 3,014,540 0
< 163,000 88,000 75,000
= 1,527,455 12,362,701 10,835,246
H 11,200,000 0 11,200,000
T Al 11,570,700 11,564,700 6,000
= 370,700 11,564,700 A11,194,000
H 11,200,000 0 11,200,000
CAAE =8 370,700 364,700 6,000
401 AlEHIYL S THYI 306,000 300,000 6,000
01 Al&HI 306,000 300,000 6,000
oXFE?IAE MEH SZILEI EES
6,000,000& 6,000 0 6,000
H2XoHXE e 11,200,000 11,200,000 0
i 0 11,200,000 11,200,000
H 11,200,000 0 11,200,000
401 AlEBIYL S THYI 6,200,000 6,200,000 0
= 0 6,200,000 6,200,000
H 6,200,000 0 6,200,000
01 Al&HI 6,000,000 6,000,000 0
oF2XIoHAE WAL
&% 6,000,000,000 6,000,000 6,000,000 0
= 0 6,000,000 6,000,000
H 6,000,000 0 6,000,000
02 2teld| 200,000 200,000 0
oXHZXIoHAE NEAIY 2eldl
& 200,000,000& 200,000 200,000 0
= 0 200,000 200,000
H 200,000 0 200,000
403 AXIEHMSA=Z0l1d 5,000,000 5,000,000 0
= 0 5,000,000 5,000,000
H 5,000,000 0 5,000,000
02 SO 2SOt stA=2E 2 €A H] 5,000,000 5,000,000 0
oH2XIHE HEASE (=g et72t)
Z& 5,000,000,000& 5,000,000 5,000,000 0
= 0 5,000,000 5,000,000
H 5,000,000 0 5,000,000




2A:

X XH -
o=

KIS et
ZEEAEYS

Rl XIS IHEALS (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
KIS AL 42,000 0 42,000
KSOHL ALY AlE S22l 42,000 0 42,000
201 er23| 2,000 0 2,000
2 5234l 2,000 0 2,000
SXMLAE A= =2
2,000,000& 2,000 0 2,000
401 AlEHIYL S THYI 40,000 40,000
01 Al&HI 40,000 40,000
oXIGHLAIS AEE FX2E]
40,000,000& 40,000 0 40,000
SAIDHE 2t 2,007,954 1,166,200 841,754
= 450,000 0 450,000
z 652,000 652,000 0
< 163,000 83,000 75,000
= 742,954 426,200 316,754
20 2el 222,154 130,400 91,7%4
101 QI24H| 1,754 0 1,754
M IRIMZZ2NSE S 11,754 0 1,754
o=HZNE HHIYR QA
88,2403 x2H+60 10,589 0 10,589
oSHALE IHIYESR Al 4UEE=
10,589,000 *11% 1,165 0 1,165
401 AlEBIYL S THYI 180,000 100,000 80,000
01 Al£HI 180,000 100,000 80,000
oAZRH0IE =M HU|AY
80,000,000 x 14 80,000 0 80,000
SAITHAY 835,800 85,800 750,000
= 450,000 0 450,000
< 75,000 0 75,000
= 310,800 85,800 225,000
401 AlEHIYL S THYI 750,000 0 750,000
= 450,000 0 450,000
< 75,000 0 75,000
= 225,000 0 225,000
01 Al£ZHI 745,000 0 745,000
oHHE UEXT SAITHMAIY A=I|2
f g9(0latgEgd) 40,000,000 40,000 0 40,000
= 40,000 0 40,000
oS HWEXT TAINHAS
705,000,000 705,000 0 705,000
= 410,000 0 410,000
[ 75,000 0 75,000
= 220,000 0 220,000
03 Al 2 CHYI 5,000 0 5,000
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2A:

E M

KIS et
ZEEAEYS

et TADHE 22 EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
oXHS UEXT TAITHAMAI AISROHYI
5,000,000 5,000 0 5,000
HAE2Y 778,908 778,908 0
Y d=0t=2e 634,068 634,068 0
HAOSZEAMY 31,127 31,127 0
101 el24H| 0 10,527 ~10,527
04 II2HN 22 ANSE+ 0 10,527 A10,527
oMANE SSAE 22| I8
38 03 0 10,025 10,025
o4l B8s 38 0 0 502 A502
401 AIEHIL 20| 21,527 11,000 10,527
01 Al&HI 21,527 11,000 10,527
oMANE SHIIIAIE 10,527,000& 10,527 0 10,527
2EAF0IS WSS NASAL 39,637 39,637 0
101 el 0 14,077 A14,077
04 I H=22 RS2+ 0 14,077 A14,077
cEEUF0=E SSAE 22 UFY
38 03 0 13,367 13,367
c4iEEE 38 0 0 710 AT10
401 AIEHIL 20| 34,077 20,000 14,077
01 Al&HI 34,077 20,000 14,077
cEAF0IE SHIJIAL
14,077, 0003 %14 14,077 0 14,077
WS AL 200, 160 0 200, 160
WRHeHXIE 200,000 0 200,000
WRHehXI= 200,000 0 200,000
701 RIS EES 200,000 0 200,000
01 JIEt2H A ES 200,000 0 200,000
ocCHYUSEIN dES
200,000,000& 200,000 0 200,000
FSONE 160 0 160
Lk SONE 160 0 160
802 gtet=JIE 160 0 160
02 Al - EHIEZSEHEE 160 0 160
=2023 2HMatZ CIAel 100,000 100 0 100
o20244 A2 SSFE AFAY
60,000 60 0 60
sSENSZE N 8,397,762 8,114,227 283,535
= 4,012,000 4,012,000 0
= 170,000 0 170,000
i 4,215,762 4,102,227 113,535
SEYFHY 1,086,615 993,080 93,535
< 10,000 0 10,000
= 1,076,615 993,080 83,53
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S RSOt
M sEXNAIE N
el SEFFONY EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
sEdEed 9= 24,980 18,080 6,900
201 er23 | 20,880 13,980 6,900
01 At2teltl 12,180 7,980 4,200
oHMCtA EItRE2l S B4 X dAeE
300,0003 7 23] 4,200 0 4,200
2 3522l 8,700 6,000 2,700
oZEIHAY S 332
300,000 92 2,700 0 2,700
OFSEUAMY 2 305,000 205,000 100,000
402 QIZEXH20IH 300,000 200,000 100,000
01 QI X2 AL E A (KHMITHE) 300,000 200,000 100,000
oltSsl2 ¥ 2F A (FHI)AI
Z& 300,000,000 300,000 200,000 100,000
SELIEFHIAY 124,000 50,000 74,000
< 10,000 0 10,000
= 114,000 50,000 64,000
402 RIZEAHZ01H 124,000 50,000 74,000
< 10,000 0 10,000
s 114,000 50,000 64,000
01 IR SASE X (XHMITHR) 90,000 50,000 40,000
oI EHHIAY
2 2,000,000 #4500 &~ 90,000 50,000 40,000
02 QI X2 AL EE(0IETHE) 34,000 0 34,000
oI HEHIAY 2,000,000 * 1790 2 34,000 0 34,000
< 10,000 0 10,000
= 24,000 0 24,000
gz SEEY =8 32,635 120,000 A87,365
307 2I2to1 ™ 32,635 120,000 87,365
05 2IR”IRIE = 32,635 120,000 N87,365
osEE SAXNIAXRA AL
3& 32,635,000 32,635 120,000 N87,365
SESAX 243t 3,080,001 3,080,001 0
= 2,156,000 2,156,000 0
= 924,001 924,001 0
SESHUNELS-sZEA(AAHH) 1,231,429 1,231,429 0
= 862,000 862,000 0
= 369,429 369,429 0
401 AlEHIYL S THYI 0 1,231,429 A1,231,429
z 0 862,000 862,000
i 0 369,429 £369,429
01 Al&ZHI 0 1,231,429 A1,231,429
oA SESHX Z4SAIY
38 02 0 1,231,429 A1,231,429
= 0 862,000 862,000
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SA: XSOt
HM: SEXADE ML
ool sESHX #8435t (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 0 369,429 2369,429
403 MHAIEMS =01 1,231,429 0 1,231,429
[ 862,000 0 862,000
s 369,429 0 369,429
02 71 2S0H U H=2H 2 E AL 1,231,429 0 1,231,429
olMAH sESAMX SAHSAY
1,231,429,0008 1,231,429 0 1,231,429
s 862,000 0 862,000
[ia 369,429 0 369,429
JI=HEANE 2,251,146 2,251,146 0
Fas 1,576,000 1,576,000 0
= 675,146 675,146 0
I ZMENERE-sEHA(AAMY) 492,858 492,858 0
[ 345,000 345,000 0
s 147,858 147,858 0
401 AIEHIZL S OHHI 0 492,858 N492,858
z 0 345,000 235,000
s 0 147,858 N 147,858
01 Al&HI 0 492,858 N492,858
oHANE JZHUENE ZHAMY
33 0¥ 0 492,858 N492,858
s 0 345,000 345,000
= 0 147,858 N 147,858
403 MM S =01 492,858 0 492,858
[ 345,000 0 345,000
i 147,858 0 147,858
02 SI12S0H U H=2H 2 E AL 492,858 0 492,858
SHANE JZHUENT ZEAML
492,858,000& 492,858 0 492,858
s 345,000 0 345,000
s 147,858 0 147,858
IZHENF I H-sEZEEHA(MEH) 492,858 492,858 0
s 345,000 345,000 0
= 147,858 147,858 0
401 AIEHIZL 2 OHYI 0 492,858 AN492,858
[ 0 345,000 A345,000
a 0 147,858 A 147,858
01 A<l 0 492,858 A492,858
oN&HE JZHUENY ZEMY
32 03 0 492,858 A492,858
z 0 345,000 345,000
s 0 147,858 N 147,858
403 TR HSIH=01A 492,858 0 492,858
s 345,000 0 345,000
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2A:

NE-p/ =

M SEXAZEMY
o JIZMENE (CH9: &S1)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
= 147,858 147,858
02 S| 2 SIS 2 X IS A ] 492,858 492,858
oMA&H JIZMENE LAY
492,858,000& 492,858 0 492,858
s 345,000 0 345,000
= 147,858 0 147,858
SENLAIE 22| 330,000 140,000 190,000
T 160,000 0 160,000
= 170,000 140,000 30,000
SEMNLAE 29 330,000 140,000 190,000
& 160,000 0 160,000
= 170,000 140,000 30,000
401 AIEHIYL20HY 320,000 140,000 180,000
= 160,000 0 160,000
= 160,000 140,000 20,000
01 AlEHI 320,000 140,000 180,000
oS a2 ZA0IE 28 FHEHIA
A 5,000,000& 5,000 5,000
(= 5,000 5,000
oMAHH 52| 2012 32 FHIHIA
A 20,000,000& 20,000 20,000
= 20,000 20,000
oMHH MEZ| MEQIS 32 FHFHIA
A 20,000,000& 20,000 20,000
= 20,000 20,000
oS EM FAE2| NHAIAOIIE DtE32
FHTUIAE 10,000,000& 10,000 10,000
= 10,000 10,000
oHEN TP dEQIE 2F FHIUIA
e 10,000,000 10,000 10,000
= 10,000 10,000
oHEM 32| FA0E 2F FHIHIAM
e 10,000,000 10,000 10,000
s 10,000 10,000
oEEH 51| AFELS & FHIYI
Ared 15,000, 0002 15,000 15,000
= 15,000 15,000
oHEM HEZZ| SHOI2 32 FHIHIAM
A 10,000,000& 10,000 10,000
& 10,000 10,000
o=0|H Y| AE0I2 3l FHFYIA
A 20,000,000 20,000 20,000
= 20,000 20,000
oM &2 AS0IE 32 FHEUISA
10,000,000& 10,000 0 10,000
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S RPN =
M sEXYGZENY

e CAR<

SRl SEINLAIY 2l (CHol: &S1)
SA - B SA(3) - MRAY - BES O &0 p/IE- - HimE=ET
cEBX 352 A3s0s sl =Ha|
S A 5,000,000& 5,000 0 5,000
CHED M52 2EIS O FHEHID
At 5,000,000& 5,000 0 5,000
SAIP ARl SEOIIE 32 =B
A 15,000,000& 15,000 0 15,000
< 15,000 0 15,000
SAP U2 01O Bl FHEIA
= 25,000,000& 25,000 0 25,000
L= 25,000 0 25,000
405 KHAHE SHI 10,000 0 10,000
01 IR =SFSHI 10,000 0 10,000
odd 2eIH 23 10,000,000& 10,000 0 10,000
HAEZSEE 444,046 19,600 424,446
= 120,600 9,800 110,800
< 238,574 2,940 235,634
i 84,872 6,860 78,012
A=Y 2 444,046 19,600 424,446
= 120,600 9,800 110,800
S 238,574 2,940 235,634
= 84,872 6,860 78,012
HEEAM Al SR A 76,000 0 76,000
= 38,000 0 38,000
= 11,400 0 11,400
i 26,600 0 26,600
301 2EtE2E = 76,000 0 76,000
= 38,000 0 38,000
== 11,400 0 11,400
= 26,600 0 26,600
01 MBI EEAG62(FREZTHA) 76,000 0 76,000
S5 MUK BHAl SHTAA
76,000,000& 76,000 0 76,000
= 38,000 0 38,000
== 11,400 0 11,400
= 26,600 0 26,600
272 BSFY KA 47,446 0 47,446
S 14,234 0 14,234
= 33,212 0 33,212
402 QI2ERHE01 & 47,446 0 47,446
L= 14,234 0 14,234
i 33,212 0 33,212
RN EEES G EY) 47,446 0 47,446
CAPBE APD BEFY NUA
47,446,00031 14! 47,446 0 47,446
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2A:
X XH -
o e

=aak

e

=p/E
=23xs
EUZ2Y

SA - B S9(SH) - NIRAY - BES o ar o HIDS2
= 14,234 0 14,034
= 33,212 0 33,212
t& ZEX AL LA 210,000 0 210,000
= 210,000 0 210,000
401 AIEBIZ 2 THE] 210,000 0 210,000
= 210,000 0 210,000
01 Al 210,000 0 210,000
CLBDEFE(ADOIIE) AL INLAI
10,000,002 14} 110,000 0 110,000
= 110,000 0 110,000
oL STDEFE(SZOHIE) 01RI0] =0IE
eSS 100,000, 00024% 14! 100,000 0 100,000
= 100,000 0 100,000
SEFOHES FHHLAL 91,000 0 91,000
2 72,800 0 72,800
2 18,200 0 18,200
402 QIEXH0IH 91,000 0 91,000
=2 72,800 0 72,800
2 18,200 0 18,200
03 BIRISIEt AL b 91,000 0 91,000
o22BH SEHUAUS FHNAAL
91,000, 0002 91,000 0 91,000
2 72,800 0 72,800
= 18,200 18,200
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